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Quiz Three: 301-400

Part One: Choose which answer is most similar in meaning to the word in bold.

1.

2.

10.

11.

12.

13.

14.

15.

kin
launch
lightning
literacy
lofty
legendary
looter
legume
laden
lament
link

land
likelihood
loophole

luminescent

A.

A

. relative

. sing

. electrical discharge
. metaphor

. high

. famous

. horizon

. laws

. sticky

. land

. improve
secure

. probability
evasion

. heat

B.

B.

B

paradise

immobilize

. distinct possibility
. credit

. temporary

. characterized
. thief

. laison

. courageous

. complaint

. unite

. move

. oblivion

. consequence

. light

@)

landslide

. write

. rain shower
. magazine

. contrasted

. governmental
. departure

. peas

. cynic

. vermiform
. sense

. assign

. problem

. test

river

Part Two: Choose which answer is opposite in meaning to the word in bold.

16.

17.

18.

19.

20.

21.

22.

longstanding
maturity
mobilize
magnanimity

linger on

magnification

lean

A.

A.

A

A.

A.

A.

lengthy
adulthood

. prepare
benevolence
cease
enlarge

. skinny

B.

B.

B.

brief

childishness

shut down

. altruistic
. dawdle
. diminish

. gangly

C.

C

C.

C.

long lasting

. ripeness

get started

. stingy

. remain

. augment

thin

D.

o O o

D.

O U O U

|,

wing

. begin
. sexual relationship
. proficiency

. different

gigantic

. factory worker
. body

. heavy

- €88

. propose
. display
. neglect

. reality

. brick

. enduring

. agedness

. put into operation
. generous

. persist

. increase

. chubby
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23. magnitude A. enormous B. minuscule C. huge D. colossal

24. latitude A. freedom B. restriction C. liberty D. independence
25. lumbering A. clumsy B. dexterous C. cumbersome D. bumbling

26. mainstream  A. fad B. trend C. fashion D. unconformity
27. longevity A. durability B. transientness C. lastingness  D. prolongation
28. masterpiece A. perfected B. well-designed C. shoddy D. masterful

29. lose touch A. depart B. stay C. retreat D. withdraw

30. larva A. immature B. wingless C. adult D. hatchling

Part Three: Complete each sentence below with the most suitable word from the four answer choices.

31. The from the world's wild capture fisheries have continued to decline since reaching a peak of 112
million metric tonnes (mmt) in 1995.

A. landings B. landslides C. latchkey D. lateral
32. In January 1925, Faulkner moved to New Orleans and fell in with a crowd which included Sherwood

Anderson (author of Winesburg, Ohio) and centered around The Double Dealer, a literary magazine whose credits include
the first published works of Hart Crane, Ernest Hemingway, Robert Penn Warren, and Edmund Wilson.

A. longitude B. literary C. limnologist  D. limbo
33. Hawai'i's volcanoes are typically characterized by the relatively quiet outflow of very fluid and by
sometimes spectacular lava fountains.
A. lava B. laureate C. leakage D. leathery
34, Her gift in is what has helped her to successfully write pop-music songs.
A. lynching B. lyricism C. luminescent D. loophole
35. Ironically, the practice of. got its name from William Lynch, who was a law-abiding citizen.
A. lure B. lynching C. loom D. makeshift
36. The big earthquake of 1906 set off dozens of large in the Santa Cruz Mountains, some of which claimed
human lives. A. landslides B. lateral C. latchkeys D. latters
37. He had one daughter, Isabel, from his with Ana de Villafranca.
A. lexicographer B. liaison C. legislature  D. limbo
38. The advantage of endogamy in Turkey is the imposition of a bride price lower than those in contracts
involving more distant social bonds.
A. longitude B. limbo C. lineage D. lure
39. Here’s a definition for the a nomination for 21st century dictionaries: Citiesstate— n. A region

consisting of one or more historic central cities surrounded by cities and towns which have a shared identification, function
as a single zone for trade, commerce and communication, and are characterized by social, economic and environmental
interdependence.

A. libration B. lexicographers C. majestic D. makeshift
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40. An anorexic person, with protruding ribs and resembling a skeleton, often has to be hospitalized for and
forced to eat. A. manageable B. malnutrition C. malfunction D. maneuver
41. On December 5, 1955, five days after Montgomery civil rights activist Rosa Parks refused to obey the city's rules

segregation on buses, black residents launched a bus boycott and elected King as president of the newly-formed
Montgomery Improvement Association.

A. mandating B. mangling C. maneuvering D. manipulate
42. Because enrollment must be kept to a level, early application at a university of your choice is
recommended.

A. manifestation B. manageable C. mangled D. malice
43. If your method of recitation included note taking in the left hand of your notebook, write questions for
the notes you have taken.

A. marine B. manure C. margins D. marshes
44. Although fires are thought to be destructive and dangerous, many plants, such as scrub, and pine
flatwoods depend on fire in order to survive.

A. massacre B. marshes C. maternity D. maps
45. In 1761, John Adams began to think and write and act against British that he believed infringed on
colonial liberties and the right of Massachusetts and the other colonies to self-government.

A. medial B. measures C. median D. maternity
46. A on how to repair a slipping transmission has been sent to auto repair shops all over the country.

A. manipulation B. manufacture C. manual D. manifestation
47. Because to compete in the emerging global economy, citistates have no choice: they must mobilize all their skills to

protect their center cities, grow smarter, protect their air and water, achieve more social equity, and train their workforce to
excel in an increasingly competitive world

A. manufacture B. marketplace C. manure D. massacre
48. Fixed-rate cards, meanwhile, are something of a , since their rates aren't actually fixed.
A. misnomer B. measure C. mingle D. moisture
49. At the lower end of the esophagus, a one-way valve (the esophageal sphincter) prevents the backsplash of stomach
contents upward into the esophagus. A of this valve is the most common cause of heartburn.
A. makeshift B. malfunction C. manifestation D. manure
50. Leaving germs behind, the housefly is a common pest and disease carrier that lays eggs in garbage and

A. marine B. manure C. massacre D. mate
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Part Four: Complete each sentence using the correct word form.

51. The wings of pterosaurs, which were somewhat similar to the wings of bats, were made of thin, skin
stretched across slender bones.

A. leather B. leathery C. leathered D. leathers
52. At no time has this enormous growth of medical costs larger as a social question than now.

A. loom B. loomed C. looming D. looms
53. Chimpanzees have been taught some hand-signs based on American Sign Language, to colored
switches or tokens, and to understand some spoken commands.

A. manipulation B. manipulates C. manipulated D. manipulate
54. However, better of the disorder has led to the development of better coping mechanisms and strategies for the
various

of the disability.

A. manifestation B. manifest C. manifested  D. manifestations
55. He saw a man's body almost completely inside her car -- head on the floorboard, torso in the air and a
severed leg on the center console.

A. mangles B. mangling C. mangled D. mangle
56. From time to time, a worker should with other co-workers at Halloween, Christmas, and New Year’s
parties.

A. mingle B. mingles C. mingled D. mingling
57. The lunar surface is bombarded with water-rich objects such as comets, and scientists have suspected that some of
the water in these objects could to permanently dark areas at the lunar poles, perhaps accumulating to useable
quantities.

A. migrate B. migration C. migrated D. migrates
58. When Starch is digested, our body hydrolyzes it to glucose. The glucose is then and used for energy.

A. metabolizes B. metabolized C. metabolism  D. metabolizing
59. The union has hired someone to the arguments between the faculty and the administration.

A. moderates B. moderate C. moderation  D. moderately
60. This process of breaking down large into their smallest parts so our body can use them is termed
digestion.

A. molecule B. molecular C. molecules D. molecularly
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